C:# L 6sen von gemischten Problemen

Name:

Finde den fehlenden Wert in jeder Aufgabe.

1) 395+ ?=448
2) 759 =968 - ?
3) 497=7+16
4) ?+520=2853
5 ?2+53=642
6) 909-7?7=710
7) 2-220=349
8) 706="?-245
9 2=832-426
10) 878-7=8
11) 794+ 140="
12) 2-387=223
13) 132+684="
14) 997-4=7
15 2=022+40
16) 920-249="7
17) 2=166+ 364
18) 582="?-179
19) ?2=976 - 404

20) 620 =7+ 208
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ﬂh L 6sen von gemischten Problemen

Name:

L dsungsschltissel

Finde den fehlenden Wert in jeder Aufgabe.

1) 395+ ?=448
2) 759 =968 - ?
3) 497=7+16
4) ?+520=2853
5 ?2+53=642
6) 909-7?7=710
7) 2-220=349
8) 706="?-245
9 2=832-426
10) 878-7=8
11) 794+ 140="
12) 2-387=223
13) 132+684="
14) 997-4=7
15 2=022+40
16) 920-249="7
17) 2=166+ 364
18) 582="?-179
19) ?2=976 - 404

20) 620 =7+ 208
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L 6sen von gemischten Problemen

Name:

Finde den fehlenden Wert in jeder Aufgabe.
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395 + ?7=448

759 =968 - ?

497 =7+16

?+ 520 =853

?+53=0642

909 -?=710

?-220=349

706 =7-245

?=832-426

878-7=8

794 +140="7

?-387 =223

132 +684 =7

997 -4="7

?=9022 + 40
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